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END-OF-YEAR EXAMINATION (2020)
PRIMARY FIVE
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28 questions
56 marks

Total Time for Booklets A and B: 1 hour 45 minutes

INSTRUCTIONS TO CANDIDATES

Do not tum over this page until you are told fo do so.

Follow all instructions carefully.

Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.

This booklet consists of 18 printed pages, excluding the cover page.
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VWhich of the following correctly represerits systems X, Y and Z7

dioxiia

tigh by carban |

ioadice

X ' Y

Z

(1) 3

T ﬁ —

{2} f“

d.gam

YeSpiralory

; 'bf‘!

P T

digestive

" Chretiatory

@[

respiratory

3 Studyihe diagean below.

Which: statement is not correct?

b
@)
(3)

@

Part B is found in alf plants.
Part C holds the plant upright.

Part A needs sunfight to make food.
Part D absorbs water and mineral salts from the soil.
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Which atvovs show $ossibie pathe for pofretion & lake plave?

1) AwdConly o

2} AanidDosly | '
2 BandCony -

) Baod Donly
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YWhere da e procEEses, ferifsation ard gemindior ke plave?
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, 7  Which slatemenis torectly show the similariles bulween sexual
[ teproduction n humana and in flowering plants?

»

8
G
B

&
I3}
3
1£5)

Bath require peliination fo take place beftrs ferlifisation.
Both require male and female teproductive parts for regraduction.
Both the oeanes will swefl to become fiults and the ovules will
bedome seeds, _

Bofh {He male reproductive cell fuses with the-femalte: wpratuefive

Aand Conly -
B and D ofily
A, Band D onfy
B, C and D only
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WhiH ststement Is not correst ghdat pad X7

{1 s protected with agover.

&) 1 hasa rich supplyof blead vessels.

(&) I absorbyswater containing dissoived oxyge. -

{4} #teleases carbon dieside fat dissoives inte the water.

T4 Mrs Sim removed the fopd-camying fubes: from the stem of a plant as.
- shown below. The water-carying tobes remmained Tn the stent.

jeaf W

Adter some g, she bbesived soma changes in the plant.
Which stalernent is correct?

{1} LeafW remainied green as food made by e plant was trapsported
there.

[2) Fruit X became bigger than normalas more water wais being stored
there.

(3) Part Z was slightly swollen as water could not be transparted from

the stein 1o the rools.

4y Leaf Y remained green as rémoving tha food-carrying tubes did not
affect the process of photosynthesls.
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www.testpapersfree.com




CHS/SUPSEYEBooklet A2030. 7

A seedleavwes

§  solowoflsaves’
G WQ‘!WWE e i
D amsicdof serbon digoddes In e ulr .

{1} EBonly

{2) CoandDonly
& A CandDonly
{4y AB,C an'd*D

13- The.diagrem below shows part 2 which 1s fotind or the leaf of a plant

[Wiaya Mmﬂfpartznanhemﬂnﬂwunmﬂam
PaﬂZhBJnsihepiamabsoﬁbsuﬁ@ﬂm ""‘

{Jaden szam%fmm T

E
Which pupii{s) isfare correct?
) Mayaonly

{2) Fatimahonly
(3) WMaya and Jaden only
{4) ‘Maya and Fatimah only.
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14 Setap A below Js used & it st home Bie i of pholosynthests |
aHerted by the amount of varben-divxide ih the wistér

baaker of
bakdng soda

Different amournis of bakihg soda fs added fo three other set-ups B, G
and D o intréase this amount. of carhon dioxide dissoived b the water.

Which sheuld be measared to stiow the fate of photosynthesis in each

sel-up? .

(1) the mass of baking soda added

(2) the valume of water added in the fest tube

(3) the amount of oxygen frapped in each test tube

(4 the numberof bubbles. of carbon dioxide released by the watsr
plant

CHSISo/PSIEYE/Bookiat A/2020 8
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18 Wﬁﬁﬁbmﬂmmma%a bookshelf for his books, The table betaw shows
mapmmdmmmm& B.Cand D.

o

i v

ol o m{m%

Wihich materie) should Weetie thobse?

{1 J
@
)
@

Material A
Material B
Msterial C
Material D

OHSISHPSEYERookiel A0 -
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Y nﬁ‘zefwﬂs pame up with & sieloh dasir of & tent for Belt tamping
% . They added = window i e elesich for tem Yo look =t fe slars of

fastener

They choss four materials shewn in the table below based on thelr
properties. :

material " properties
P * waterproof
oot transparsrit

totfledble 3

Q

o afe aln n[® »f

Which one of the following corredtiy represdnts P, &, R and 57

canopy fastener | tantr&pe ~Window pole
M a -5 | @ | &
@ | @ | R P
(39 | a 1 B Q
(4 s | R P

Q| A &

w"m_;u )
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H#  Yusi made & gams el the oblects shawn below.

The lower end of the bar was used for catching a foy.

Rod X could catch toys A and G only.
Rod Y could catch toys A and B only,

Which of the foiiowing shows the bars for reds X and Y? '
(1) _ (2}

(3) y 4y

v
il
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22 Tre diageam below shows four cufouts K, £, ¥ and N from a piecs of

+

g e,

i e e e ' e - g

L T e

The shapes were thert used o create a scane i 3 shadow puppet show
a8 shown below. The positions of both fhe light and the soreen ere fixed.

Which of the following shows the cortect order of the cut-outs from the

P nearest to the screen-to the furthest fiom the screen?
nearest T furtnest
to screen o from screen
(1) M L "N - K
2y L M K N
3) K iy [ M
) N K M L

CHS/Sc/PS/EYE/Booklet A2020 14
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58 il Ton: IR a we tove i e brottront. iiels of (i isBesding wai
wegrald elp fa dey the oo faster?

A
a.
L
u
]
{3
4y

ok thes ool i hell
e e donrof the bt
e m abdryesta bl S onsl

A &6 B bily
K and oy
B and Sonly
A, Band C

25  Devsafop an elbciic clicult as shown helow.

Ji{+

He chiserved that ardy B2 1 up.
Wiish ohjiects wire déed in the set-up above?

@y
® |
30

abjmﬁA

oﬁeﬁﬁﬁ ,

AT

object P

) |

SOl

marble

T} et

cain

eraser

étaser

gols

marbie

coip

——

metal ruler
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28 Study the Syl below. All e bolba dand bafteiles are idenfical.

Daneesh conducted ekpeﬁmenis 1 and 2 using thie ¢irouit shown above.

In both experiments, Daneesh rerrived one light bulb and observed how
many light bulbs would temaih lighted up. The table below shows his

observations.
pumber of bulbs that |
_ ~_} remiained fightoedup |
experimentt | 3
experiment 2 4

Which of the following. correctly shows which light butb Daneesh remioved
in each of the experiment?

bulbs removed in
axperithent 1 ~ experiment 2
1) S) A
{2} C B
@ D A
@ | b B
End of Booklet A
CHS/S/PS/EYE/Bookiet A2020 18
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13 questions

44 maiks

Teital Time for Booklets A and B: 1 hour 45 minutes
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{b) Give a reason why fivirig things A and T cannot be classified in the

dfag:am

Db .

T

i

R N

tGeonieﬂ’Wpag@}

SCORE

www.testpapersfree.com

SRR TR N T T e e o Pl W":&'w:?

3

RLURY SFATYTEE W Y P APy



30 The diagram below shows the life cycle of an Aedes mosaquito.

PR Y
St v
p

3.
373

(M /

(i)

(a} Name the missing stages of the life cycle above. m

The table below shows the effect of temperature on the average time taken
for an Aedes mosquito to hatch from an egg and develop into an aduit.

temperatura (°C) average length of the life cycle of
- an Aedes mosquito (days)
16 : 43
22 25
28 13
33 12

(b) Based on the information given, state the relationship between
~ temperature and the average length of the life cycle of an Aedes [1]
mosquito.

{Go on to the next page)

SCORE
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(b} Whatwas the ol of Mished’s expesimisit? | Kk

(G0 onothe nextgage)

_; SCORE | i 2 e
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Contiee Sorr Ceslion. 31

Wm Tt ’c‘gﬂﬂ’ beoakmars G and Dias slww i e Jidgram bolow,

g?axy 1 bonker 1Y was s 3 5 aisd amgle.

Closs-Up
of stalk

= T g o X3

5 R Sde bl
T RN &*,_ *5_..:.:}3
i B

{c} Wotid the deeraase in volume of water in bieaksr D b lss than, the

spihé a8 or greater than that in beaker TF Give & reason far your .

g

{Go on to the next page)

- SGORE O

1
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33 Thediagram bielow shows tiow-bidod fravels trour body.

(a) MameorgansAendB. 0

ongan A; . . organ B: ——

Eal ol

(b) Naitie ohe substance inthia blood where its amount is higher in G than
inH. )|

The table balow thows the heart rate of two runners at rest and while
jogging.

runer heant rate (.b_eats per minute)
_ at rest while jogging
X, 70 - 100
Y T80 125

() Whydotherunners have a higher heart rate while jogging than at rest? [4)

The diagram-'beluw shows the moverent of water in a plant.

h 4

" roots » stem

leaves

(d) State one difference between the direction of movement of water in
plants and the direction of movement of blood in the humagrbody. 11

(Go gn 1A next page)

SCORE

CHS/Sc/PS/EYE/Bgokiet Bf2020 &

www.testpapersfree.com




34 Robert set up the experiment as shown below in a dark room to find out
which colour of light allows the highesl rate of photosynthesis..

gas collecled
beaker inverted test tube
water

inverted funnel

torch 4%,,:13

He shone the torch at the water plant for 25 minutes. He observed the
number of bubbles given out by the water plant during that time and
recorded the resulls in the table below. He then repeated the experiment
using different coloured lights.

support for funnel

water planl

colour of lights | number of bubbles produced
T red | T
bue [ 7
‘green ] 0
vellow 14

{a) Based on Robert's results, what could he conclude from his
experiment? {1]

(b) With the same set-up, suggést another observation Robert coud

measure to achieve the same aim. 1
{Go on 1o the next page)
| SCORE ' 4
2 .
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Sanbinig from Quastion 34 —
‘Robett also wanted fo fiod oyt B the amount of ght aﬁ‘eﬁﬂha rarnber of

Bubties produced.
fo} Desoribe buw Robert tould cary out the- axnmmé:ﬁwﬁ&mmchangm |
- gy of Sis above apparafus. pri -
{d) Describe-the process of photosynthesis n graen plants. (13
{Go on to the next page)
SCORE .

CHSISHIPEIEYEBooidel B/2020 8
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Ladrsmac

{e) Mertinthen replacee mughet X witty 5 blgger magnit and cerred out e
similar experdiment,

He mmmmwww oy Kewards objeck T at a faster
mmammmmwmmw
Po you agre? Give 2 1eason fiof pouranswer, i

{Go onrip the nexi page)
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4

3B g:qwammm o the yohane of 2 marble, He used = kitehen scale o
80 ‘ :

() Joshua told Gary that he had used the wiong apparatus) Wiat couid
fhis kitcheh scale be user 1o find ot aboit the martis? it

Joshua told Gary to use the apparatus below.

measuring 25em® 50 om®
oyiinder marble:  beaker full of
watet

Gaty poured #ia beaker of weter inie fhie measuring cylinder. Then, he
dropped in the marble genfly as shaw it the diagram below. .

tb) Stateths reading for the new water level observed. ]
{c)" What could Gary conclude abouit the marble in this experiment? )]

(Go on to the niext page)
SCORE
3
CHSISc/PEIEYE/Bopklst B/2020 10
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37 Faridah conducted an experiment {o investigate how the distance bétween
the torchlight and object, o, would affect the height of the shadow.

object .
torchlight by screen

d ) hg

g

« -0 E R
]

She measured the height of the shadow fonmed on the screen and repeated
the experiment threa times before changing the distance.
She recorded the results in the table below.

o (cm) height of the shadow {cm)
try1 try 2 try3 average
10 8.3 8.5 8.6 8.5
15 54 " 52 5.1 52
20 35 3.1 33 33

{a) Why did Faridah repeat the experiment three times for each distance? [1]

(b) ¥ Faridah kept distance d at 10 cm, how would the height of the shadow

change if the screen was moved further away from the object? i
{Go on to the next page)
SCorRe |
2
CHS/Sc/PS/EYEBooklet B/2020 "
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=

Sght sebree

~ fight sensor

As the bail bouriced, it bounced kowar, The dusation.of light captured by the
fight sensor dectwasad. The amount of Yight detected by the fight sensar
was then recorded.

(e} Which graph A, B or © commeetly shaws teresulls of the experinvent?
Put a tick {*) i the correct box provided. : ;

A
amountof {

light detected |
by the sensor}
(units) :

. fightdstected|

amount of

M

(units) |

by it sensor|

&

amonnt of

e (units}

light detected [
{units)

graph B time (units)

graph.C

e {units)

{d) State the property of light demonstrated in the experiment above. 1]

CHS/Sc/P5/EYE/Bosidet BI2020

www.testpapersfree.com

{Go on to the next page)

SCORE
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39 Mr Sot was diiving his tar on 3 pold day. Water dioplats attved on the
inner swface of the windseren. He noices thal water droplets ware not
formed on a sunmyday,

{a) Explain how the veater droplats wers fofist ofi & cold day. 24

Mr Soh wanted 1 find out the rate of evaporation at differcrit fifnes of the
day. He filled three similar containers with 700 ml of water each. and placed
= @ach of the containers In the garden at differént fimes of the day.

522~ 760 mbof water

At the end of each time pefiod, he recorded the volume of water Jeft in the
contaiper-in the table balow.

time petiod | 10am-12pm | Bpm-Gpm | 8pm- 70 ph
voluma of | R '

water left in the 440 500 660
container {ml) , ‘ R
(b) Based onthe results above, which pariod was tHé hottest? Explain
YOUr answer. )|
(c} State what is evaporation. 1]

(Go oni to the next page)

SCORE
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49 Vitlew wariad 1o set o a crooll o Ryht sp 2 bal vsing hea spuolal
Siltctne, Gwiichs 1 ooultt be tume & ponfiim A e 8 whils swikchi Sonid
fas furerd Yo posifiona € ov B
s it iy v viveult so thak e bl wiisld be i as shone I e tabls belom.

ey

| bt X Bs Bt
— 1 Ha
T TTRe__

The: diagram balow shows e isf s iyl

fialls X

switids 3 switch 2

End of Booklet B
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SCHOOL : CATHOLIC HIGH SCHOOL

LEVEL : PRIMARYS

SUBJECT :  SCIENCE

TERM - 2020 EOY

SECTION A

Qi | Qz | @3 | Q4 [ Q5 | @8 | Q7 [ @8 | @ |} Q10
1 4 1 2 4 4 2 3 2 3
Q1 Q12 Q13 Q4 Qs Q16 Q17 Q18 Q19 Q20
4 3 3 3 4 1 4 2 2 1
Q 21 Q22 Q23 Q24 Q25 Q28 Q27 Q28

2 4 2 3 3 3 1 4

SECTIONB

Q29) a) BEDF

b) This diagram did not provide information on whether living things A

and C live on land or in water.

Q30)

a) i) Pupa

ii) Larva

b) As the temperature increases, the average length of the life cycle of

an Aedes mosquito increases.

Q31)

a) To prevent water from evaporating.

b) To find our how the thickness of the celery stalk affects the amount of

water taken in by the plant.

¢) Greater than. The cut part of the stalk in beaker D has a larger

exposed surface area (in contact with the water)

Q32)

a) A and B. The stigma from the flower can still receive pollen grains

b} Parts Cand D.

from another flower. Hence, fertilisation can occur.

Pgl
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Q33)

a) AlLungs
B:Heart

b) Carbon dioxide

¢) When they are jogging, the heart needs to pump blood faster to
transport more oxygen and more chgested food to all parts of the body |
to release more energy. ;

d) Water is transported upwards from the roots to the leaves while blood
is circulated in the human body.

»

Q34)

-a) The plant could photosynthesise the most under blue light.

b) Amount of gas collected at the top of the inverted test tube.

) Action: Vary the distance between the torch and the water plant.
Reason: As the distance between the torch and the water increases,
the amount of light decreases, the number of bubble decreases. The
rate of photosynthesis decreases.

d) Plants take in water and carbon dioxide from the surroundings in the

presence of surilight and chlorophyll it produces sugar and oxygen
during photosynthesis. '

Q35)

a) Object T can be a magnetic material.

b) Tum the other end of object T to face magnet X. If both repel, object T
is a magnet. ' |

) No, | do not agree. The magnetic strength of a magnet does not
depend on its size.

Q36)

a) Mass
b) 75cm cube
¢) The marble has a definite volume.

Qa7 -

-a) To get { the avg reading for ) reliable resuits.
b) The height of the shadow ‘Wou‘ld increase.

€ A

d) Light travels na straight fine.

sy

a) The. piate lostheat to the i n::e cube, o
b) Less than. Somme water gained heat from the surroundings and
evaporated. Thus there was less walter left to freeze. '

a39) -

_a} The water vapour inthe car touched the oooier inner surface of the

Pg2

. www.testpapersfree.com




windscreen, lost heat and condensed to form water droplets.

b) 10am to 12am. The volume of water left in the container was the least,
which means the rate of evaporation was the fastest.

¢} Itis the process by which a liquid tums into a gas at any temperature.

Q40) a) Magnetic material

b) After the switch was closed, a close circuit was formed, electric current
could flow through. The iron rod became an electromagnet and attract
rod y. The metal contacts would touch each other and the circuit would
be closed, causing the motor to turn the fan blades.

¢) The brightness of the bulb would decrease.

Q41)
biitb X ,
battery
A G
wire B t b wire
switch 1 switch 2
Pg3
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